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= = R HVE B TR HVE Tl = = AN = AN =2 =
’ 100kN/mM%Z#BZ % -l -~ = -|3mZBz5| - ~ = - -| 100kN/mM%E#Z % = -~ = -|3m%z#Bz% -~ - = =
Zh st 1.00/ 000 ~ 472 58.83] £hLlst | 000 ~ 472| 1.89 9.55 ZHLS 1.00f 500 ~ 5.20 58.83| #hLlst | 500 ~ 520| 1.89 9.55
9 100kN/m%Z#BZ % -l -~ = -|3mZBz5| - ~ = - -] 100kN/mM%E#Z% = -~ = -|3m%z#Bz% -~ - = =
Zh st 1.00/0.00 ~ 5.00 62.27| #hLis [0.00 ~ 0.00] 1.73 8.73 ZHLS 1.00f 500 ~ 5.30 62.27| Zh s | 500 ~ 530 1.73 8.73
3 100kN/mM%Z#BZ % -l -~ = -|3mZBz5| - ~ = - -] 100kN/mM%E#Z % = -~ = -|3m%z#Bz% -~ - = =
Zh st 1.00/0.00 ~ 597 7477 #hLls 000 ~ 597| 1.78 9.00 TS 1.00f 500 ~ 6.80 7477 =hilst | 500 ~ 6.80] 1.78 9.00
4 100kN/m#%#BZ % -l -~ = -|3m%EiEZ S a ~ = = -| 100kN/mM%E#Z% = -~ = —-|3m%EiBZS = ~ = = =
ZnLs 1.00{0.00 ~ 7.20 91.64| Zh s |0.00 ~ 0.00] 1.73 8.74 st 1.00] 500 ~ 9.17 91.64] Zn Ll | 500 ~ 917 1.73 8.74
5 100kN/m%#BZ % -l -~ = -|3m%EiEZ S a ~ = = -| 100kN/mM%E#Z% = -~ = —-|3m%EiBZS = ~ = = =
ZnLs 1.00{0.00 ~ 7.74 99.38| Zn L4t |0.00 ~ 774 2.10 10.60 Lot 1.00f 5.00 ~ 10.60 99.38| ZnList | 500 ~ 10.60| 2.10 10.60
6 100kN/m%#BZ % 1.00/0.00 ~ 0.28 104.11|3m%EB %% a ~ = = -| 100kN/mM%E#Z% 1.00] 10.54 ~ 11.30 104.11|3m%EHB %% = ~ = = =
ZnLs 1.00{0.28 ~ 8.06 100.00f ZH1List | 000 ~ 8.06] 2.16 10.93 st 1.00f 500 ~ 10.54 100.00] Zh A4t | 5.00 ~ 11.30] 2.16 10.93
7 100kN/mM#Z#B% % 1.00/0.00 ~ 1.34 120.26|3mZ#EZDH| - ~ = = -| 100kN/MZ#B 2% 1.00( 1142 ~ 15.90 120.26|3m%H#BZ% = ~ = = =
ZnLs 1.00{1.34 ~ 912 100.00f Z1list | 000 ~ 9.12| 2.62 13.23 st 1.00] 500 ~ 1142 100.00] Zh st | 5.00 ~ 1590 2.62 13.23
8 100kN/mM#Z#B% % 1.00[{0.00 ~ 3.02 148.02|3m%i#8x5[0.00 ~ 0.36| 3.21 16.20| 100kN/m%E#B 2% 1.00( 10.76 ~ 2554 148.02|3m%#8% 5[ 25.00 ~ 25.54| 3.21 16.20
ZnLs 1.00| 3.02 ~ 10.80 100.00f ZhList 1 0.36 ~ 10.80[ 3.00 15.16 st 1.00f 500 ~ 10.76 100.00f ZhList | 5.00 ~ 25.00f 3.00 15.16
9 100kN/mM%#BZ % 1.00{ 0.00 ~ 3.04 148.41|3m%#E 25| 0.00 ~ 0.55( 3.34 16.87| 100kN/m%#B x5 1.001 11.29 ~ 26.92 148.41|3m%iE % 5| 25.00 ~ 2692 3.34 16.87
ZnLs 1.00| 3.04 ~ 10.83 100.00f ZhList | 055 ~ 10.83] 3.00 15.16 st 1.00f 500 ~ 11.29 100.00f ZhList | 5.00 ~ 25.00f 3.00 15.16
10 100kN/mM%#BZ % 1.00{ 0.00 ~ 209 132.44|3m%EEZ D al ~ - = —| 100kN/m%#8 2% 1.00{ 1092 ~ 18.77 132.44|3m%E#BZ2 5 =l ~ - - -
ZnLs 1.00{2.09 ~ 988 100.00] Zh A4t | 0.00 ~ 9.88] 2.53 12.81 st 1.00f 500 ~ 10.92 100.00f #h it | 5.00 ~ 1877 2.53 12.81
11 100kN/mM%#BZ % 1.00{0.00 ~ 1.79 127.50|3Im%E X5 al ~ - = —| 100kN/m%#8 2% 1.00] 11.70 ~ 22.34 127.50| 3m%E#B 25 =l ~ - - -
ZnLs 1.0011.79 ~ 958 100.00f ZhList | 0.00 ~ 9.58] 2.46 12.42 st 1.00f 500 ~ 11.70 100.00f ZH it | 5.00 ~ 22.34| 2.46 12.42
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
ZFh s ~ Fhn st ~ Zh s ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%i#8 % % ~ ImEBZD ~
ZFh s ~ Zh st ~ Zh LS ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%i#8 % % ~ ImEBZD ~
ZFh s ~ Zh st ~ Zh LS ~ ZFh s ~
100kN/m#%#BZ % ~ ImEEZD ~ 100kN/mM%i#8 % % ~ ImEBZD ~
ZNLUS ~ ZThLS ~ ZHLS ~ T IO0)) ~
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